BID TABULATION FOR:

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SAMARA SECTION 16

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS **NOVEMBER 07, 2025** LIA ENGINEERING, INC. E PENA **NOVEMBER 07, 2025** 0386-3116B (9.2)

| BIDDER NAME | BASE BID | |
|---------------------------------------|----------------|-----------------|
| 1) D&J CONSTRUCTION, INC | \$2,046,666.75 | |
| 2) ALLGOOD CONSTRUCTION COMPANY, INC. | \$2,059,215.00 | 4.00 |
| 3) HCG | \$2,108,148.05 | |
| 4) DECROSTA CONSTRUCTION | \$2,177,715.21 | |
| 5) BEYER CONSTRUCTION, LLC | \$2,194,589.95 | |
| 6) R CONSTRUCTION CIVIL, LLC | \$2,212,215.00 | |
| 7) DACO PAVING, INC. | \$2,243,000.00 | |
| 8) PRECISE SERVICES INC. | \$2,340,000.00 | |
| CALENDAR DAYS - 120 / 135 | | A STATE OF TEXT |
| CHENDAR DA13 - 120 / 133 | | 3 * : N * 3 |

I, Jack Sullivan , P.E., hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SAMARA SECTION 16

GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 07, 2025
LIA ENGINEERING, INC.
E PENA
NOVEMBER 07, 2025

0386-3116B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

| | | | | 1) D&J CONSTRUCTION, INC | | 2) ALLGOOD CONSTRUCTION COMPANY, INC. | | 3) HCG | | 4) DECROSTA CONSTRUCTION | |
|--------|--|------|-------|--------------------------|----------------|---------------------------------------|----------------|-------------|----------------|--------------------------|----------------|
| NO. | ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL |
| | AND APPURTENANCES ITEMS 4" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE | SY | 22 | \$50.00 | \$1,100.00 | \$48.00 | \$1,056.00 | \$40.00 | \$880.00 | \$150.00 | \$3,300.00 |
| 2 | 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE | SY | 27981 | \$46.00 | \$1,287,126.00 | \$48.38 | \$1,353,720.78 | \$44.45 | \$1,243,755.45 | \$45.41 | \$1,270,617.21 |
| 3 | 6" LIME STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | SY | 31618 | \$3.50 | \$110,663.00 | \$2.64 | \$83,471.52 | \$4.45 | \$140,700.10 | \$4.00 | \$126,472.00 |
| 4 | 10% LIME BY WEIGHT, 50LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE | TON | 790 | \$357.00 | \$282,030.00 | \$356.40 | \$281,556.00 | \$358.25 | \$283,017.50 | \$360.00 | \$284,400.00 |
| 5 | 6" REINFORCED CONCRETE CURB, AS INDICATED ON PLANS, COMPLETE IN PLACE | LF | 16285 | \$3.75 | \$61,068.75 | \$3.42 | \$55,694.70 | \$4.00 | \$65,140.00 | \$4.00 | \$65,140.00 |
| 6 | FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE | EA | 226 | \$100.00 | \$22,600.00 | \$212.75 | \$48,081.50 | \$285.00 | \$64,410.00 | \$200.00 | \$45,200.00 |
| 7 | ADA RAMPS (TYPE 4), INCLUDING TRUNCATED DOME BRICKS TO BE ADA RED, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE | EA | 36 | \$1,100.00 | \$39,600.00 | \$747.50 | \$26,910.00 | \$1,700.00 | \$61,200.00 | \$1,800.00 | \$64,800.00 |
| 8 | 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE | EA | 16 | \$15.00 | \$240.00 | \$17.25 | \$276.00 | \$17.00 | \$272.00 | \$50.00 | \$800.00 |
| 9 | 24" SOD STRIPING ALONG BACK OF CURB, COMPLETE IN PLACE | LF | 16245 | \$2.00 | \$32,490.00 | \$2.00 | \$32,490.00 | \$2.00 | \$32,490.00 | \$2.00 | \$32,490.00 |
| 10 | REMOVE AND DISPOSE OF TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | EA | 3 | \$1.00 | \$3.00 | \$172.50 | \$517.50 | \$180.00 | \$540.00 | \$100.00 | \$300.00 |
| 11 | 6" PVC SCHEDULE 40 IRRIGATION SLEEVES, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | LF | 400 | \$35.00 | \$14,000.00 | \$26.45 | \$10,580.00 | \$40.50 | \$16,200.00 | \$40.00 | \$16,000.00 |
| SUBTOT | AL PAVING AND APPURTENANCES ITEMS | | | - | \$1,850,920.75 | - | \$1,894,354.00 | _ | \$1,908,605.05 | _ | \$1,909,519.21 |
| | ANEOUS PAVING AND APPURTENANCES ITEMS PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE | LS | 1 | \$35,000.00 | \$35,000.00 | \$13,800.00 | \$13,800.00 | \$32,450.00 | \$32,450.00 | \$33,000.00 | \$33,000.00 |
| 2 | MISCELLANEOUS DRANAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATER, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | LF | 5000 | \$3.00 | \$15,000.00 | \$3.00 | \$15,000.00 | \$3.00 | \$15,000.00 | \$3.00 | \$15,000.00 |
| 3. | OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | CY | 3000 | \$2.00 | \$6,000.00 | \$2.00 | \$6,000.00 | \$2.00 | \$6,000.00 | \$2.00 | \$6,000.00 |
| 4 | COMMON ROADWAY EXCAVATION TO BE HAULED, STRIPPED, PLACED, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR SITE AND ROADWAY FILL, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | CY | 13500 | \$3.00 | \$40,500.00 | \$3.11 | \$41,985.00 | \$3.25 | \$43,875.00 | \$6.50 | \$87,750.00 |
| 5 | CITY OF LEAGUE CITY INSPECTION FEE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | МО | 6 | \$5,500.00 | \$33,000.00 | \$5,500.00 | \$33,000.00 | \$5,500.00 | \$33,000.00 | \$5,500.00 | \$33,000.00 |

FRN F-1386 LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SAMARA SECTION 16

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS NOVEMBER 07, 2025 LIA ENGINEERING, INC. E PENA NOVEMBER 07, 2025 0386-31168 (9.2)

| | | | | 1) D&J CONS | TRUCTION, INC | 2) ALLGOOD CONSTRUCTION COMPANY, INC. | | 3) HCG | | 4) DECROSTA CONSTRUCTION | |
|---------|--|------|------|-------------|----------------|---------------------------------------|----------------|-------------|----------------|--------------------------|----------------|
| NO. | ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL |
| 6. | CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE | HR | 10 | \$50.00 | \$500.00 | \$50.00 | \$500.00 | \$50.00 | \$500.00 | \$100.00 | \$1,000.00 |
| 7. | AS-BUILT SURVEY OF FILL AREAS (CONTRACTOR'S SURVEYOR MUST PROVIDE CERTIFIED TOPOGRAPHIC SURVEY, INCLUDING ALL GRADE BREAKS, USING ON-GROUND SHOTS AS A MEANS OF DATA COLLECTION, INCLUDES 3D CAD FORMAT BEFORE FINAL PAYMENT IS MADE), COMPLETE IN PLACE | LS | 1 | \$5,000.00 | \$5,000.00 | \$12,650.00 | \$12,650.00 | \$12,500.00 | \$12,500.00 | \$25,000.00 | \$25,000.00 |
| 8. | INSTALLATION, MAINTENANCE, AND REMOVAL UPON COMPLETION OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 |
| 9. | INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE | EA | 1 | \$1,200.00 | \$1,200.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$3,000.00 | \$3,000.00 |
| 10. | EXTRA CEMENT STABILIZED SAND, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | CY | 500 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 |
| 11. | METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, COMPLETE IN PLACE | LS | 1 | \$18,500.00 | \$18,500.00 | \$5,750.00 | \$5,750.00 | \$22,050.00 | \$22,050.00 | \$24,000.00 | \$24,000.00 |
| 12. | OVERFLOW SWALE, PER GRADING PLAN, 10' BOTTOM WIDTH, COMPLETE IN PLACE | LF | 120 | \$20.00 | \$2,400.00 | \$11.50 | \$1,380.00 | \$4.35 | \$522.00 | \$20.00 | \$2,400.00 |
| 13. | STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE | LS | 1 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$3,000.00 | \$3,000.00 |
| 14. | 24' X 8' X 4" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | EA | 2 | \$5,300.00 | \$10,600.00 | \$2,875.00 | \$5,750.00 | \$2,300.00 | \$4,600.00 | \$4,000.00 | \$8,000.00 |
| 15. | DEMUCK, SCARIFY, AND FILL EXISTING DRAINAGE SWALES, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | LF | 8023 | \$2.00 | \$16,046.00 | \$2.00 | \$16,046.00 | \$2.00 | \$16,046.00 | \$2.00 | \$16,046.00 |
| SUBTOT | AL MISCELLANEOUS PAVING AND APPURTENANCES ITEMS | | | _ | \$195,746.00 | | \$164,861.00 | _ | \$199,543.00 | _ | \$268,196.00 |
| BID SUM | MARY | | | | | | | | | | |
| PAVING | AND APPURTENANCES ITEMS | | | | \$1,850,920.75 | | \$1,894,354.00 | | \$1,908,605.05 | | \$1,909,519.21 |
| MISCELL | ANEOUS PAVING AND APPURTENANCES ITEMS | | | | \$195,746.00 | | \$164,861.00 | | \$199,543.00 | | \$268,196.00 |
| TOTAL A | MOUNT BASE BID | | | | \$2,046,666.75 | | \$2,059,215.00 | | \$2,108,148.05 | | \$2,177,715.21 |

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SAMARA SECTION 16

GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 07, 2025
LIA ENGINEERING, INC.
E PENA
NOVEMBER 07, 2025

0386-3116B (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

| | | | | 5) BEYER CONSTRUCTION, LLC 6) R (| | 6) R CONSTRU | 6) R CONSTRUCTION CIVIL, LLC | | 7) DACO PAVING, INC. | | 8) PRECISE SERVICES INC. | |
|----------------|---|------|-------|-----------------------------------|----------------|--------------|------------------------------|-------------|----------------------|-------------|--------------------------|--|
| NO. | ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | |
| | ND APPURTENANCES ITEMS " REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE | SY | 22 | \$110.00 | \$2,420.00 | \$222.00 | \$4,884.00 | \$55.00 | \$1,210.00 | \$210.00 | \$4,620.00 | |
| 2. 6 | " REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE | SY | 27981 | \$49.95 | \$1,397,650.95 | \$50.00 | \$1,399,050.00 | \$49.25 | \$1,378,064.25 | \$52.00 | \$1,455,012.00 | |
| | " LIME STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION O 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE | SY | 31618 | \$2.50 | \$79,045.00 | \$4.00 | \$126,472.00 | \$4.50 | \$142,281.00 | \$4.35 | \$137,538.30 | |
| | .0% LIME BY WEIGHT, 50LB/SY FOR SUBGRADE, QUANTITY TO BE PAID DNLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE | TON | 790 | \$330.00 | \$260,700.00 | \$342.00 | \$270,180.00 | \$325.00 | \$256,750.00 | \$360.00 | \$284,400.00 | |
| | " REINFORCED CONCRETE CURB, AS INDICATED ON PLANS, COMPLETE IN PLACE | LF | 16285 | \$4.00 | \$65,140.00 | \$4.00 | \$65,140.00 | \$4.20 | \$68,397.00 | \$4.50 | \$73,282.50 | |
| H | INAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND HEPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE | EA | 226 | \$260.00 | \$58,760.00 | \$185.00 | \$41,810.00 | \$280.00 | \$63,280.00 | \$170.00 | \$38,420.00 | |
| F | ADA RAMPS (TYPE 4), INCLUDING TRUNCATED DOME BRICKS TO BE ADA RED, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE | EA | 36 | \$1,280.00 | \$46,080.00 | \$1,800.00 | \$64,800.00 | \$1,500.00 | \$54,000.00 | \$1,400.00 | \$50,400.00 | |
| | " SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE | EA | 16 | \$8.00 | \$128.00 | \$15.00 | \$240.00 | \$18.00 | \$288.00 | \$17.50 | \$280.00 | |
| 9. 2 | '4" SOD STRIPING ALONG BACK OF CURB, COMPLETE IN PLACE | LF | 16245 | \$2.00 | \$32,490.00 | \$2.00 | \$32,490.00 | \$2.00 | \$32,490.00 | \$2.00 | \$32,490.00 | |
| | REMOVE AND DISPOSE OF TYPE III BARRICADE, ONLY AS DIRECTED BY THE INGINEER, COMPLETE IN PLACE | EA | 3 | \$55,00 | \$165.00 | \$1.00 | \$3.00 | \$1.00 | \$3.00 | \$145.00 | \$435.00 | |
| | 9" PVC SCHEDULE 40 IRRIGATION SLEEVES, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | LF | 400 | \$40.00 | \$16,000.00 | \$45.00 | \$18,000.00 | \$35.00 | \$14,000.00 | \$48.00 | \$19,200.00 | |
| SUBTOTAL | L PAVING AND APPURTENANCES ITEMS | | | - | \$1,958,578.95 | - | \$2,023,069.00 | | \$2,010,763.25 | _ | \$2,096,077.80 | |
| 1. F F S | NEOUS PAVING AND APPURTENANCES ITEMS FERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS AVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, TOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE | LS | 1 | \$37,500.00 | \$37,500.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$35,001.20 | \$35,001.20 | |
| II. | MISCELLANEOUS DRANAGE SWALES, V-BOTTOM, GRADED TO DRAIN, NCLUDES HYDROMULCH SEEDING AND WATER, AS DIRECTED BY THE INGINEER, COMPLETE IN PLACE | LF | 5000 | \$3.00 | \$15,000.00 | \$3.00 | \$15,000.00 | \$3.00 | \$15,000.00 | \$3.00 | \$15,000.00 | |
| | OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | CY | 3000 | \$2.00 | \$6,000.00 | \$2.00 | \$6,000.00 | \$2.00 | \$6,000.00 | \$2.00 | \$6,000.00 | |
| C | COMMON ROADWAY EXCAVATION TO BE HAULED, STRIPPED, PLACED, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR SITE AND COADWAY FILL, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | CY | 13500 | \$6.25 | \$84,375.00 | \$3.40 | \$45,900.00 | \$6.75 | \$91,125.00 | \$6.25 | \$84,375.00 | |
| | CITY OF LEAGUE CITY INSPECTION FEE, AS DIRECTED BY THE ENGINEER, | МО | 6 | \$5,500.00 | \$33,000.00 | \$5,500.00 | \$33,000.00 | \$5,600.00 | \$33,600.00 | \$5,500.00 | \$33,000.00 | |

FRN F-1386 LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SAMARA SECTION 16

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS NOVEMBER 07, 2025 LIA ENGINEERING, INC. E PENA NOVEMBER 07, 2025 0386-31168 (9.2)

| | | | | 5) BEYER CONSTRUCTION, LLC | | 6) R CONSTRUCTION CIVIL, LLC | | 7) DACO PAVING, INC. | | 8) PRECISE SERVICES INC. | |
|---------|--|------|------|----------------------------|----------------|------------------------------|----------------|----------------------|----------------|--------------------------|----------------|
| NO. | ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL |
| 6. | CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE | HR | 10 | \$50.00 | \$500.00 | \$50.00 | \$500.00 | \$51.00 | \$510.00 | \$50.00 | \$500.00 |
| 7. | AS-BUILT SURVEY OF FILL AREAS (CONTRACTOR'S SURVEYOR MUST PROVIDE CERTIFIED TOPOGRAPHIC SURVEY, INCLUDING ALL GRADE BREAKS, USING ON-GROUND SHOTS AS A MEANS OF DATA COLLECTION, INCLUDES 3D CAD FORMAT BEFORE FINAL PAYMENT IS MADE), COMPLETE IN PLACE | LS | 1 | \$7,850.00 | \$7,850.00 | \$8,500.00 | \$8,500.00 | \$6,000.00 | \$6,000.00 | \$15,000.00 | \$15,000.00 |
| 8. | INSTALLATION, MAINTENANCE, AND REMOVAL UPON COMPLETION OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 |
| 9. | INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE | EA | 1 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 |
| 10. | EXTRA CEMENT STABILIZED SAND, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | CY | 500 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 | \$20.00 | \$10,000.00 |
| 11. | METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, COMPLETE IN PLACE | LS | 1 | \$19,500.00 | \$19,500.00 | \$15,000.00 | \$15,000.00 | \$7,425.75 | \$7,425.75 | \$15,000.00 | \$15,000.00 |
| 12. | OVERFLOW SWALE, PER GRADING PLAN, 10' BOTTOM WIDTH, COMPLETE IN PLACE | LF | 120 | \$12.00 | \$1,440.00 | \$10.00 | \$1,200.00 | \$25.25 | \$3,030.00 | \$50.00 | \$6,000.00 |
| 13. | STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE | LS | 1 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$7,500.00 | \$7,500.00 | \$1,000.00 | \$1,000.00 |
| 14. | 24' X 8' X 4" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | EA | 2 | \$900.00 | \$1,800.00 | \$2,500.00 | \$5,000.00 | \$2,000.00 | \$4,000.00 | \$2,500.00 | \$5,000.00 |
| 15. | DEMUCK, SCARIFY, AND FILL EXISTING DRAINAGE SWALES, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE | LF | 8023 | \$2.00 | \$16,046.00 | \$2.00 | \$16,046.00 | \$2.00 | \$16,046.00 | \$2.00 | \$16,046.00 |
| SUBTOT | AL MISCELLANEOUS PAVING AND APPURTENANCES ITEMS | | | - | \$236,011.00 | • | \$189,146.00 | _ | \$232,236.75 | | \$243,922.20 |
| BID SUN | MMARY | | | | | | | | | | |
| PAVING | AND APPURTENANCES ITEMS | | | | \$1,958,578.95 | | \$2,023,069.00 | | \$2,010,763.25 | | \$2,096,077.80 |
| MISCELL | ANEOUS PAVING AND APPURTENANCES ITEMS | | | | \$236,011.00 | | \$189,146.00 | | \$232,236.75 | | \$243,922.20 |
| TOTAL A | AMOUNT BASE BID | | | | \$2,194,589.95 | | \$2,212,215.00 | | \$2,243,000.00 | | \$2,340,000.00 |